ANSWERS

Read the clues below and then fill in the answers onto the crossnumber puzzle.
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ACROSS

500,000 + 60,000 + 2,000 + 100 + 40 + 7

Write in digits "eight hundred and ninety-six thousand, five hundred and forty-five". ;
10,000 + + 7 =13,007
Write in digits "one million and six-hundred".

Write in digits "seventy-eight thousand, one hundred and twenty".

What is 10,000 more than 4,0007?

5,000 + 600 + 2

700 + + 5 =745

What is the place value of the 5 in the number 65,0017

300 + 20 +1

8,000 + 7000 + 40 + 9

What is the place value of the 4 in the number 174,5007
2000 + +7 = 2507

What is the place value of the 3 in the number 56,3027
What is ten times bigger than 100?

9,000 + + 7 = 9607

7,000 + 800 + 90 + 6

What is 100,000 more than 4,000?

Write in digits "five thousand, two hundred and four".
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